a=: FHdE= M 0 AFSI =R
H: dqel BE(MIA=EX/S)
cH2| Sl HE M 2483 K& (cho &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
A2l = Z T 2t 12,003,832 11,751,333 252,499
= 1,773,400
Xl 6,065,000
< 4,165,432
gdxel BEMIEX/ES) 11,449,525 11,695,238 A 245,713
= 1,773,400
Xl 6,065,000
< 3,611,125
ASIHZH 243 X 8,131,125 7,307,400 823,725
2 1,773,400
Xl 4,309,000
< 2,048,725
ASIHAH |4 IS 1,006,400 912,400 94,000
201 et 7,000 0 7,000
01 At 22l 7,000 0 7,000
OAHIMEH 29 7,000
202 Odl 5,400 5,400 0
01 = LH 4 Hi 5,400 5,400 0
OMIHIM |4 5,400
307 glz2tol & 851,000 600,000 251,000
02 HAFHAANFEE 181,000 600,000 A 419,000
OA=IHZHM UWERA 25 27,000
oOZ3xR2 29 43 XA 40,000
OMEBIHIN H2IF 2ddu= 24,000
OJI=DIEtd ASIBAMOIIY & 40,000
O=sl0dd |RX MEZZIY HY - 24 20,000
OA2HZH =2t J18 A 30,000
05 RIZtE = 670,000 0 670,000
OMSIBZHN XNJAHH 294 595,000
OAZHZHM LMHESLHME 23 75,000
402 2I2H X201 M 143,000 277,000 A 134,000
01 It AL E X 143,000 277,000 A 134,000
OA2IZZ M S=20HE K& 40,000
O018EASH=2 L ASIZEH 20 Z2X
E F¥ 60,000
OAMIABIN =01 sS4 43,000
NEES &S 100,000 0 100,000
307 21201 A 100,000 0 100,000
02 LB AAHEX 100,000 0 100,000
OXEss v =d 100,000
A RDIY 24(=21) 5,976,725 5,241,800 734,925
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o= HEE= M ARSI A H
PSR el 2E(MI=X/cS)
S9l AT EHE X SE R
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
= 1,210,000
Xl 4,309,000
= 457,725
307 i+l & 100,000 100,000 0
= 70,000
< 30,000
02 IZtE M AHE X 100,000 100,000 0
OXIEsAS (2H) 100,000
= 70,000
< 30,000
308 XtXIEHH SOl A 5,876,725 5,141,800 734,925
= 1,140,000
Xl 4,309,000
< 427,725
01 IXNHHMEBANEES 5,876,725 5,141,800 734,925
ogXtel =AM 4,596,725
Xl 4,309,000
< 287,725
OAS el XI&AS 1,120,000
= 980,000
< 140,000
OXSESAMS(II=x) 160,000
= 160,000
el &I s4 134,500 204,500 270,000
201 £B-2%H| 10,000 10,000 0
01 At 22/l 10,000 10,000 0
OMEIEIIY 29 € g8 A 10,000
202 oddl 4,500 4,500 0
01 = LH o4 1l 4,500 4,500 0
OAMAHIH sS4 4,500
403 XIS E X201 H 120,000 160,000 240,000
01 X SHHX2E= 120,000 160,000 240,000
OAMIAEIIS AMAH X 120,000
271 s4(=21) 816,000 835,700 A 19,700
= 563,400
< 252,600
307 gl2tol & 238,800 192,200 46,600
= 119,400
< 119,400
02 It M AHE L 238,800 192,200 46,600
o271y 848 ALE S N 238,800
= 119,400
= 119,400
308 XX HMSOIA 577,200 643,500 266,300
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o= HEE= M ARSI A H
PSR el 2E(MI=X/cS)
Sl ASIEHAR BEE X (S &2)
= - — SHE|
2RI BIEH) - HRAY - BES 0l &F 24 e Hl D= 2t
= 444,000
< 133,200
01 IXNHHBNEES 577,200 643,500 266,300
o221 sS4 (&) 325,000
= 250,000
< 75,000
ol SH4(MXH) 239,200
= 184,000
< 55,200
o==0t271d 13,000
= 10,000
< 3,000
£J1Y 84 64,500 64,500 0
201 Let24d] 10,000 10,000 0
01 At 22l 10,000 10,000 0
oSl 88 2 A=zl 10,000
202 Odl 4,500 4,500 0
01 = LH YI 4,500 4,500 0
ObI2J1g d& & AM=2e] 4,500
308 XXM SO A 50,000 0 50,000
01 IXNHHBANEES 50,000 0 50,000
OLATE oulorslle 84 50,000
S 243 N 33,000 48,500 A 15,500
201 Let24E] 10,000 10,000 0
01 At 2teltl 10,000 10,000 0
O8=sxg d8Xd ¥ 88 10,000
202 O4dl 3,000 4,500 A 1,500
01 = LHA YI 3,000 4,500 A 1,500
O"sxg Jlg = 3,000
307 glz2+ol & 20,000 34,000 A 14,000
02 IZtE M AMHEE 20,000 34,000 214,000
oUW Esx& A8 N& 20,000
CH =4 300,000 313,200 213,200
SS2ZAMY A& 300,000 300,000 0
308 XXM SOIA 300,000 300,000 0
01 AXHHILEES 300,000 300,000 0
02322 AMd 300,000
A=A 3,018,400 4,074,638 A 1,056,238
Xl 1,756,000
< 1,262,400
AEIAY F2 725,600 231,100 494,500
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M ox
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|
el 2Es(MIEN/eS)

NE=2 SN ARSI EZH

AR RN EHH O (3H) - MBEAY - BAS 0 AF o il HDS2
201 et A | 9,000 14,500 A5,500
01 AFR2 2t 2l Yl 9,000 14,500 A5,500

ogxz NAHEES 5,000
OHAE AN HUT H= 4,000
202 (4] 5,000 5,000 0
01 2L Y| 5,000 5,000 0
OFLXNAY =& 5,000
308 XX SHAMSOIA 711,600 211,600 500,000
01 AIXHMBAEXZ 711,600 211,600 500,000
odx4A Xl Bx=2 XN 500,000
OFYgLH HH =& 55,000
OAlZ Al XNJLEH 29 XA 66,600
OFNdX JIgH HNSXH 90,000
NEZ2SHLR2IAI (=2D) 2,292,800 3,843,538 A 1,550,738
Xl 1,756,000
T 536,800
201 Bt A | 2,000 5,000 A 3,000
01 AP 2t 2l Yl 2,000 5,000 A 3,000
oXNgassHL e =X 2,000
202 04| 3,000 5,000 A 2,000
01 2LHOHI 3,000 5,000 A 2,000
OXNg3ssHL e F=A 3,000
308 AHXI S M SO0l & 2,287,800 3,833,538 N 1,545,738
Xl 1,756,000
= 531,800
01 AXHNBMNEXZ 2,287,800 3,833,538 N 1,545,738
OXNYgzsSH LAl At 2,287,800
Xl 1,756,000
& 531,800
HHSHBH (AFSIEHZ M) (DIEH/DIEL) 54,307 56,095 AN 1,788
olet 2 | 25,557 24,095 1,462
T 2 XNJHEH 29 25,557 24,095 1,462
101 @121l 25,557 24,095 1,462
03 I HLZ2ZZAHE S 25,557 24,095 1,462
OF A A AL C121H]| 25,557
oJN=3 46,7603 261 x1H 12,205
Oan3 12,204,360 x1/12%43| x1&H 4,069
Onr3sdsd 46,7603 *52 « 1Y 2,432
OANZ2Hd =% 8,136@& *x20A| 2t*x12& »150%*1H 2,929
Odxtsasit=< 65,0883 * 16«1 1,042
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a=: FHdE= M 0 AFSI =R
FH: HE2AZH (AISI A Z M) (IIEHIIE)
Sel: o2y (B9 ®R)
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
OFEFOtHI 300,000& »23| «1H 600
O=aldl 130,000% 12 »1H 1,560
On st 60,0002 «12& 1Y 720
JlE 3l 28,750 32,000 A 3,250
FNEZ Jl2ZHl (A EZH ) 28,750 32,000 A 3,250
201 ¢4l 15,750 29,000 A 13,250
01 At 2t 2l 15,750 29,000 A 13,250
ORNM2Y AMR2eltl 15,750
202 44l 10,000 0 10,000
01 SLHOYI 10,000 0 10,000
ORNE2YE =UHHH 10,000
203 YR =&l 3,000 3,000 0
04 RENSELRF=LH 3,000 3,000 0
© 1521 Ol at 250,000& 128 3,000
MEES(ASEZHD) (A - SAI| L /MBS EXNE) 500,000 0 500,000
HEHHXZ 500,000 0 500,000
A EEH XNAIIS &= 500,000 0 500,000
702 )1 2HEZS 500,000 0 500,000
(O RIE=RSE-= 500,000 0 500,000
OMIIEZM XAIIS =4 500,000
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